The contract of the time written in alert log and the real one could show this problem

Mon Oct 31 18:39:23 2011
Thread 1 advanced to log sequence 49632 (LGWR switch)
Current log# 32 seg# 49632 mem# 0: /ocfs_ctrl_redo/mxdell/redo32_a.log
Current log# 32 seg# 49632 mem# 1: /ocfs_data/mxdell/redo32_b.log
Mon Oct 31 18:59:11 2011
Thread 1 advanced to log sequence 49633 (LGWR switch)
Current log# 33 seg# 49633 mem# 0: /ocfs_ctrl_redo/mxdell/redo33_a.log
Current log# 33 seg# 49633 mem# 1: /ocfs_data/mxdell/redo33_b.log
Mon Oct 31 19:29:07 2011
Thread 1 advanced to log sequence 49634 (LGWR switch)
Current log# 34 seg# 49634 mem# 0: /ocfs_ctrl_redo/mxdell/redo34_a.log
Current log# 34 seg# 49634 mem# 1: /ocfs_data/mxdell/redo34_b.log
Mon Oct 31 19:59:21 2011
Thread 1 advanced to log sequence 49635 (LGWR switch)
Current log# 35 seg# 49635 mem# 0: /ocfs_ctrl_redo/mxdell/redo35_a.log
Current log# 35 seg# 49635 mem# 1: /ocfs_data/mxdell/redo35_b.log
Mon Oct 31 20:29:36 2011
Thread 1 advanced to log sequence 49636 (LGWR switch)
Current log# 36 seg# 49636 mem# 0: /ocfs_ctrl_redo/mxdell/redo36_a.log
Current log# 36 seg# 49636 mem# 1: /ocfs_data/mxdell/redo36_b.log
Mon Oct 31 20:49:11 2011
Thread 1 advanced to log sequence 49637 (thread open)
Thread 1 opened at log sequence 49637
Current log# 31 seg# 49637 mem# 0: /ocfs_ctrl_redo/mxdell/redo31_a.log
Current log# 31 seg# 49637 mem# 1: /ocfs_data/mxdell/redo31_b.log
Mon Oct 31 20:50:27 2011
Thread 1 advanced to log sequence 49638 (LGWR switch)
Current log# 32 seg# 49638 mem# 0: /ocfs_ctrl_redo/mxdell/redo32_a.log
Current log# 32 seg# 49638 mem# 1: /ocfs_data/mxdell/redo32_b.log

#1 49632 _703296551.arc should generate at 18:59

#1 49633 703296551.arc should generate at 19:29

#1 49634 703296551.arc should generate at 19:59

#1 49635 703296551.arc should generate at 20:29

But the real result is very different, the arc log files generated very slowly from 18:59~20:32, until DB NODE 1 server

restarted at 20:40



1.1 49632 703296551.arc generated 19:17 (18:59), it is said the server spent about 18 minutes to write the redo log to
archive log file. (normally only need several seconds)

2.1 49633 _703296551.arc generated 19:30 (19:29), it could be treated as normal.

3.1 49634 703296551.arc generated 20:07 (19:59), it is said the server spent about 8 minutes to generate this file

4.1 49635 703296551.arc generated 20:32 (20:29), it is said the server spent about 3 minutes to generate this file

5.1 49636_703296551.arc generated 20:49 (20:49), it is normal.(after db node 1 reboot)

6.1 49637 _703296551.arc generated 20:50 (20:50), it isnormal.

All the other archive log files generated normally after dfms RAC DB node 1 reboot.
| 1012367171 | | 10.13.67.188 || 101267173 | | 10.1367.174 | | 10.13.67.175

—ru—rw———— 1 oracle dha 29M Dct 31 22:d41 1_ 459643 7032596551 ,arc
=ru—ru——— 1 oracle dha 294M Oct 31 22:36 B_37321_703296551 . arc
—ru—rw——— 1 oracle dba 295M Oct 31 22:26 1_49:dZ2_703296551 ., arc
—ru—rw——— 1 oracle dha 299M Oct 31 22:20 1_49641_70329:551 ,arc
—ru—ru——— 1 oracle dba 294M Oct 31 22:03 1_49:40_70329:551 , arc
=“ru—rw——— 1 oracle dha daM Oct 31 21:50 4_45241_ 70329551 . arc
—ru—rw——— 1 oracle dha 295M Oct 31 21:44 1_49:539_70329:551 ,arc
—ru—ru——— 1 oracle dba 294M Oct 31 21:20 1_49:33_70329:551 ., arc
“ru—rw——— 1 oraczle dha 294M Oct 31 21:18 2_49531_703296551 ,arc
—ru—rw——— 1 oracle dha 297M Oct 31 20:00 1_49:37_703296551 . arc
“ru—rw——— 1 oracle dba 109M Oct 31 20:d49 1_49:36_703296551 , arc
—ru—ru——— 1 oracle dha 298M Oct 31 20:32 1 49635 702296551 .arc
—ru—ru——— 1 oracle dha 234M Oct 31 2007 149534 7032965051, arc
“ru—rw——— 1 oracle dba 122M Oct 31 19:30 1_49:33_703296551 ., arc
—ru—rw—— 1 oracle dha 294M Oct 21 19:17 1_49632_F03296551 , arc
—ru—ru——— 1 aracle dha 294M Oct 31 18:39 1 49631 703296551 arc
“ru—rw——— 1 oracle dba 294M Oct 31 18:28 5_37311_70329:551 . arc
—ru—rw——— 1 oracle dha 294M Oct 31 18:21 1_49:30_703296551 ,arc
—ru—rw——— 1 oracle dba 294M Oct 31 17:58 1_49:29_70329:551 ., arc
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The AWR report (19:00~20:00) about user 1/0O wait (Abnormal)

Wait Class

® = zecond

® c= - centizsecond - 100th of & second

® ms - millizecond - 1000tk of & second

® =z - microzecond - 1000000th of & second
® ordered by weait time desc, waitz desc

[wot lass | Wats | time —outs | Totarvwat Time (s | Ao wat () | wats tan
[cluster [ 485631 | 19.31 | 96,585 200 1365
[Commit | &1504] 55.09 | 33,692 | 543 | 173
[cither [1,482,075 | 8532 | 12,595 | 9| 41.11
[Comcurrency | 84,433 | 7.05 | 3,036 | 36 | 237
[systemlio | 264,730 | 0.00 | 2,593 | 11 | 7 44
[Userwo | 16441 | 168 | 2,390 | 145 | 0.46
|spplication | 25,538 | 345 | 453 | 13 | 072
|[configuration [1,485,241 | 99.99 | 431 | o 41.85
[Metweork 3,590,855 | 0.00 | 7| o] 10097

The AWR report (09:00~18:00) about user I/0O wait (Normal)
(it Ciass | _Waits_| rTime -outs | Total Wat Time (s)| Aug et (ms) | Wtts txn
[Cluster | 8,537 488 | 0.00 | 7,990 1 10.75

lseruo | 2035415 | 0.00 | 5,504 | 3| 256
[tk 10,884,174 | 68451 | 2,329 | ol 13.70
|System 110 | 3,428,775 | 0.00 | 1,467 | o 4732
Commit | 597,904 | 0.00 | 1,162 | 2| 075
|spplication | 739,827 | 0.09 | 526 | 1] 0.93
[Concurrency | 820,185 | 052 | 503 | 1] 116
IMetwork (72,619,016 | 0.00 | 51 | o g1.41

[Configuration | 8,527 | 9335 | 3| o 0.01




